o

Teowera L

= X0

=
i
-
&
~

Tearema 9
V.Y = O

S e .
-

Teowma 2

Teciema 10

VK = 0 (5K #0) Mn c .w
Torema 3 Teovema L w
Q= K S0 - oo .ﬂ

s O

Teorena i

Teorgma  \2
00

&°° o =0
Tecrer 5 Teovema 13 - -

Ny OO o . .
od . K = ©O (ro)¥¥ = 4+ x 4% = [nd
Teorer & Teovema (R ' c
L -0 oK=J0o% K>0
“eorenno % Teovema 18

k= 4 -

o e _ Mzm,. K>
05 04Kl

Teorewmg &
(+0)+(+00) = $00O

Teovema 16
oof= 0o

Escaneado con CamScanner


https://v3.camscanner.com/user/download

g veuara

I 14

¥

Escaneado con CamScanner


https://v3.camscanner.com/user/download

